Unit 10 Objective 4 Remediation

Multiplying a Monomial and a Polynomial

Example One

Simplify —3(2x + 3y — 2)

Distribute the term in the front of the parenthesis to all of the terms in the parenthesis.
(=3)2x+ (—3)3y — (—3)2

Multiply each term by the term in the front.

Answer: —6x—9y +6

Example Two

Simplify 2x%(—2x% + 3x — 5)
Distribute the term in the front of the parenthesis to all of the terms in the parenthesis.
(2x2)(—2x?) + (2x?)3x — (2x?)5

Multiply each term by the term in the front. Multiply the coefficients. Also, remember when you
multiply the same bases, you add the powers.

Answer: —4x* 4+ 6x3 — 10x?

Example Three

Simplify 3ab?(6a? — ab + 7b?)
Distribute the term in the front of the parenthesis to all of the terms in the parenthesis.
(3ab?)6a? — (3ab?)ab + (3ab?)7b?

Multiply each term by the term in the front. Multiply the coefficients. Also, remember when you
multiply the same bases, you add the powers.

Answer: 18a3bh? — 3a?b?® + 21ab*



Iw What Did the Boy Measuring Stick Say w

When He Saw the Girl Measuring Stick?

Simplify the product, then cross out the letter palr next to the correct answer.
For each letter pair that you DONT croes out, write the upper case letter In the
box containing the lower case letter,
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16 -5m* — 6m o (D —5x° +8x%y? - 2x%°

P 2m? +18m o xy = x2S

§ 14m? + 35 § -5x*y? + 8x%y? — Xyt

< —24m2 -12 < EED 1832 + 8Lay® — 36x%y?
-5m® - 6m? 18x°%% + 81x%y? — 36x%y°
2m* +18m? xty + 2’
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o (3 36a +15a° - 3a° 2 EX 6c%d! —15°d5 + 54ed®

: CHED 120° - 4a* + 6a° & ~144¢2d5 + 458

< @D 36a® - 9a +18 3D 6°d" - 156°d° — 5acd®
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) 36a” +15a +18 D -144c2d® + a554°
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